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HiliRX &5 6,118 2,954 3,164 2,521

HiA K 7 4 3 4
HIEHE 2 1 1 1
HAh/5 16 10 6 6
Hil X%k 7 3 4 3
HilEEH 35 17 18 12
Hilf/ N 16 7 9 7
Hiith/ R 6 2 4 1
HiDfEE 308 138 170 126
Hi0E35 268 123 145 111
320 R R 235 116 119 74
HZHH 7 3 4 2
Hil+E 102 47 55 45
HiZ#EXK 159 82 77 71
HIEH 472 245 227 178
HlTH 276 138 138 110
HilEH 4 2 2 4
HIAF 89 40 49 49
Hilit 128 57 71 58
D 2% 330 138 192 158
Hidgt4 115 57 58 47
HASZX 403 219 184 199
HilEH 82 40 42 40
H2ZEH 155 74 81 81
Hil 89 39 50 37
Hi2rr /B 39 19 20 16
HlmE 387 182 205 155
HlilE 76 35 41 29
Hiadt)il 117 51 66 52
HI#E 354 185 169 102
HilAEERN 393 197 196 147
Hi0F 134 62 72 56
HdE4S# 82 41 41 30
H32 )il 1,208 572 636 501
HAETa 15 6 9 7
HEBE=TH 2 2 0 2




